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( Biological Techniques and Biostatistics )
Full Marks : 60
Time : 3 hours
The figures in the margin indicate fij marks

for the questions

1. Answer the foilowing questions -
(a) What is paired t-test?

(b)) What is numerical apertyre (NA) of a
microscope?

1x7=7

(c) State the significance of py value.,
(d) How can long oocyte be frozen?p

(e) Write the principle of g€0metric megap
(f/,  What is radiotracer?

(9) What is reverse phase chromatography"’

2. Answer any four of the followin & Questions -

(@) What do you mean by Standarq Sirss 2;4=8
mean? i
(bp) What is fluorescence Chemical'p
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(2)

(c) State the significance of Chi-square
test,

(d)
(e)

What js Cryotome?

Define concept of data and data
proceSSing.

(3)

What do you understand by sampling error?
Write on the types of sampling error. What
are the methods used to reduce sampling
error? 3+4+3=10

Or

What is regression equation? What is line of
best fit? Describe regression equation Y on X

3. Answer : . with suitable example. 2+2+6=10
any five following questions :
of the fo gq A
(@) What blish
IS Lambert-Beer law? Esta : ;
€ Telation petween absorption and What is assisted f”eproductwe technology?
Concentryy Write about the different types of freezing
b - process for sperm and ova preservation.
4 Write the utility of biostatistics. Mention the characteristics of
: : tectant. =
& Piscugs the basic difference in working SRk 3+5+2=10
Pringiplag of scanning  electron or
Z?CFOSCODe and transmission electron What is electrophoresis? Write about the
lcmscope. theory of electrophoresis. Describe about the
(@) What i language? Which immunoelectrophoresis. 2+3+5=10
Computer i y
Programme larfguage is used in Unix?
(e) ! : :
What 'S radipisotope? Write briefly the | .
Useg radioisotopes in chromato- Describe  the working  principle and
graphic Proc IOS application of fluoréscence and phase
] W 3 stiaa? contrast microscopy with suitable
B B correlation in stat%s S -f illustrations. S+5=10
Xplajy the Kar] Pearson’s co-efficient 0
lon
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Or
What PSS e e principle of gas
chromatography? Write about the
application of gas chromatography in biology.
Distinguish between paper chromatography
and thin-layer chromatography. 2+6+2=10
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